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Dr. Puran Singh
School of Humanities and Social Sciences
Indian Institute of Technology, Mandi

Lecture — 46
4.2 Preparation of Trial Balance
In this video, we are going to learn to prepare the statement called Trial Balance. | am going to
look at the same 14 transactions, which we have been using for writing the journal entry and
then, we used the same transactions to post the entries into the ledger accounts. Now, we are
going to use the ledger accounts, the balances that we calculated for the ledger accounts, and

we are going to prepare the trial balance statement for those balances.
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Here is a quick revisit to what we did in the ledger posting section. Using the 14 transactions
we wrote journal entries, and then all the journal entries relating to the bank were brought here.
| am going to use a new colour of pen here just to distinguish. Let me take this colour. So, this
was the account that we prepared in the ledger posting. All bank transactions are here. The

balance in the bank account is 210 and this is a debit balance as well.
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So, likewise we have all the balances here. Shareholders’ capital account has a credit balance

of 100, bank loan account has a credit balance of 200.
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Purchase account has a debit balance of 100 and so on.
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So, all the balances are with us in these slides; all accounts are with us.
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And, in the ledger posting videos we also discussed that some of these accounts are going to
have debit balance, some are going to have credit balance, and there are rules and let me just
write those rules here. All assets are going to have a debit balance; all expenses are going to
have a debit balance. On the other hand, all liabilities and all incomes are going to have credit

balance. These are the rules that we figured out in the ledger posting video.

Now, let us start posting the account balances into the trial balance. So, this is trial balance trial
balance as on and if we had the date we would write here, but we do not have the dates right
now. So, | go to the very first account, which is bank account and bank account has a balance
of 210, a debit balance. The first thing to do is just list all the possible accounts that we have.
So, we have bank, shareholders’ capital, and so on. So, I will just write all the account names
here. In this column we write the account name. So, we have a bank account, a shareholder
capital account, a purchase account, a sales account, we have ABC Limited’s account, we have
PQR Limited’s account, I think we had a bad debt account, we have a rent account, we had
interest income, then we have depreciation. The order does not matter: which accounts are you
writing first, which accounts are you writing later, that does not matter. We have a building

account, sale, purchase is done, shareholder, bank loan account.

So, after the 14 transactions that we did, we came upon 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12
accounts involved in the 14 transactions. In the 14 transactions you had a minimum of 14x2

accounts that were involved, but bank account was involved in multiple places, purchase may



be involved at multiple places. So, in total we have about 12 accounts that you need to worry

about.

Now, we just look at the bank account and we say, what is the amount, what is the balance in
the bank account. The balance in the bank account was 210 and | am writing it in the first
column, which is the column for debit balances. Bank balance is an asset, it has a debit balance,
we will write this in the first column. Then, the next account is shareholders’ capital account,
it has a balance of 100. Sharcholder’s capital has a balance of 100 and it is a credit balance. |
am writing this in the second column which is designated for all the credit balances.

Next step, you have a bank loan account which has a balance of 200. So, bank loan account:
200 credit balance because it is a liability. Then, we have purchase account which has 100 and
ABC has no balance. So, purchase is 100, a debit balance and ABC has no balance. We also
know that PQR also does not have any balance, we will just write it as nil. Then, we have sales
account which has 100 as balance. Then, we have building account which has 60 as the balance
and depreciation which has 10. So, building has 60 and depreciation has 10. Debit balances:
depreciation is an expense, building is an asset. Then rent is 20 and interest income is 10; rent
20, interest income 10. Interest income is an income, a credit balance, rent is an expense 20,
debit balance, and bad debts have 10.

Now we have brought all the account balances to the trial balance. That is it. This is possibly
the easiest statement to prepare. Most of the work had to be done in writing the journal entries
and posting them into the ledger, after that we just have to bring all the closing balances, all

the balancing figures from the ledger accounts and put them in this statement like this.

The next step is to just do a total, total of the two sides. The total of the two sides you have 310
here. We have made a mistake here: sales should be on the credit side as well because sale is
an income. So, this should be 410 instead. So, we have 210, 310 and we have 60, 70, 80 and
100. So, this also comes out to be 410 and then you close it with the conventional two

underlines.

There you go, the trial balance is agreeing in the sense that debits are equal to credits. You do
not have to put in this equal to sign here, this is just for the discussion. So, the debit amount is
equal to the credit amount means the double entry system has been followed, at least
arithmetically. There is no mistake possibly. There could be mistakes, we will talk about those

in the future videos.



So, that is how you prepare trial balance. In this video | took you through the process of

preparing trial balance using the same 14 journal entries, which we have been using since the
beginning, since the journal entries.

I will see you in the next video.



